O 2-HoNA x of 27

D 7+8V2 @ 7+8V3 ® 8+8V2
@)s+sv3 ® 9+8v2

~&B

ﬁ:16c0360°:16><%=8

D_C:E:wsmﬁm:mx‘/;:s«/ﬁ

x=BD+CD=8+8V3
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@ 41V2 @ 42VZ2 @ 43V2
@ uvi )52

0% 10 x sin 45° = 9 x 10 x Y2
=452




D (1)22V2,(2)43V3 @ (1)22V2,(2)45V3
® (1)22V2,(2)48 V3 @ (1)24V72,(2)45V3
@(1)24«/5, (2)48 V3

B

(1) (Wo]) = 6x8xsin4d5°

5
=6><8><\/?_:24\/§

1
(2) (deol) = 3 X 12x16 sin(180° — 120°)

:%x12x16x%§:48\/§
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15° o] e, S| Eol=?

® tanl5°m <@>21tan15°m @ sinl5°m
@ 21sinl5°m ® cosl5°m

tan15° = % o] & x = 21 tan15°m ©|T}.




5.  oh& I™T 22 AABC oA &0l h S FotH?

© 10(V2-1) (@)10(«/5—1) ® 10 (V3 - V2)
@ 10(2v2-1)  ©® 10(V2-2)

B

20
h

~ tan (90°2 — 45°) + tan (90° — 30°)




@® (3-V3)m @ (3V3-3)m
@ (4V3+1)m @(3\/§+3)m

® (4V3-1)m

Ste] =olE h 2 otH

/CBH = 45° o]0 2 BH = h

(CAH = 30° 0|2 &

64+h:h=+v3:1, V3h=6+h

(V3-1)h=6
6

S h=
V3-1

=3(V3+1) =3V3+3(m)
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29
@ 24cm? @ 24+2cm?

@24 V3em? @ 48cm?
® 48 V2cm?

s 7

ok

B

—_

V3

:—><12x8><?
= 24V3(cm?)

N | =N

AABC = — x AC x BC xsin(180° — 120°)
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HolE Fotolel,

@ 200 cm? (@)200 V2 cm? ® 20043 cm?
@ 202 V2 cm? ® 202 V3 cm?

B

360° + 8 = 45°
1
(AAOH ¢ Ho])= 5 X 10X 10 x sin 45 co|E g

V2

e 1
(B9 %‘Ol)=§x10x10x7xs

=200 V2 (cm?)
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d#2] ABCD 7} =3 ®Hof tfsto
45° 93 7] &) A Qlek. o] wf, A
At EBCF 9] Yo]&?

@18 @182 @ 48V3 @ 45VF O 4316

BE = 8 x cos45° = 4V?2,
Hol=4v2x 12 = 48V2




10. & 23 22 AABC 9lA] /B = 45°, /C = 60°, BC = 60cm &
u), AT ©] Zo|& 15}H?

A
B\“ SOcm—' ’C
@ 30(2- v2) em @ 30(4- V2) em
® 30(2- V3) om @)30 (3~ V8) em
® 30 (4~ V3) em
S5
o 60

tan(901i545°)4—tan(90° 60°)

~ tand5° + tan 30°
60

B3

L —
180°

S 34+ vr
180

3- V3)
::mx3—-5%)(an)

A

©
|




11. o5 2™ Zo] Fof 4em ¢l Fol Ho|ZE A& AC oA A

/ABC = 45° 9 o], AABC 2] {o]=?

\
7
.

O 7V2cm? (@)8\/§cm2 ® 9vV2cm?

@ 14vV2cm? ® 16 V2 cm?

~&B

(Ho])= = x (4V2)? x 5in45° = 8 V2(cm?)

,,D
{4cm
B C

/DAC = /BAC (- A2 Z), /DAC = /BCA (- dZho|n=z
(BAC = /BCA
AABC = o|3HAAZ o1,
AH = 4cm ©]22 AB = BC = Lo :4\/§(cm)
sin 45




P 2} gttt /BCD = 60°, AD =
6cm, AB = 4cm € o, AAPD 9]

sol=?
@ V3cm?2 @ 2+3cm? 3)3 v3cm?
@ 4+/3cm? ® 5+v3cm?

AAPD = E x OABCD

:ZX4X6XSin60°

V3

:6—
x5

= 3V3(cm?)




13.

tha 199] AABC ©llA AC 9] Zol?

O 7 @ 6v2 @ 37T @ 72 @4\/7
A A oA W =43 BC 9] Aol Tt S H=t T o

AH =8 xsin60° =43
BH = 8 x cos60° = 4
o AC= (4‘/§)2+82=4\/7




14. o2 139 AABC o)A ¥ BC 9] $3& M, BC = 10, AC =
5, AM =25 4 ™, AABC 9] Hlo]=?

w
/
/
/
/
'
I
—
o=
\
\
\ ’{>
\ /
\ .
’
o

@ 10 @ 15 @20 @ 23 ® 25

%

AC =MC =5 o|B2 AAMC & o] 5 HAMZHS :
BAH C oA ¥ AM o H =49 ¥ H 2 oA

CH= /52— (V5)2 =25

1
AAMC 9] Yol ><2\/5><2\/5=§><5><5><sinC o]l

DN | =

4
sinC = g O]Ijl'

TabA AABC = - x AC x BC x sin C O]t}

4
2><5>< 0><5 0




15. o3 I"olA AABC 9] Hol&

T sin | cos | tan

22°10.37/0.93/0.40

50° 10.77/0.64 1,20

@ 150cm? @ 160 cm? @ 180 cm?

12(cm)

— AD 12
LAED S T = tan22° 040 = 30(cm) °J*.
w2t AABC = % X (10 + 30) x 12 = 240( cm?) o]t}

AABD ©JA AD = BDtanB = 10tan50° = 10 x 1.20 =




